SUPERMAN
1. What is the purpose of the different wheels?
-The reason for the wheels is to make the ride nice, smooth, and controlled.
Time 1:  1.10s; Time 2:  1.11s; Time 3:  1.09s; AVERAGE TIME: 1.1s

2. Where is the largest amount of G-Force?                                                                                     -The largest amount of g-force is at the bottom of the original drop of the ride.
3. Draw Free-Body Diagram.             
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4. Solve for Velocity.   

V=d/t       V=2759/1.1     (2759ft/1.1s) x (12in/1ft) x (2.54cm/1in) x (1m/100cm)

V= 764.49 m/s

5. What would happen if the ride were to be cut in half?
-Both time and distance would decrease if the ride were to be half of what it was, thus lowering velocity.

        6.  What would happen to the G-Force if this were to happen?

- The g-force would be greater because the ride would be shorter and faster.

        7. Why can G-Force not be too high and how do the wheels affect this?

-G-Force cannot be too high or problems will occur and the ride would constantly break down.  The wheels determine the strength and resistance to the g-force.
         8. How does the difference of people on the ride make a difference? Is the amount of                   

              people equal to, heavier, or lighter than the car?


-More mass = More speed.  We felt that the two are different but not by too much.

        9. Will the different masses change the length of the ride? How much will the masses vary?

- Mass of each ride will vary by different riders.  Each ride varies by a fraction of a        second, proving that weights are similar but not entirely the same.
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The normal force is perpendicular to the circle and directed toward the center at this location. KG








